Lab :  Linear Power Supply





�





q 1.	Given VAC=16Vrms @ 60Hz, a diode drop is 0.7V and the zener voltage is 5.1V, estimate the dc voltages across C1 and RL.





VC1= 				VRL= 			





q 2.	Measure the dc voltages across C1 and RL.





VC1= 				VRL= 			





q 3.	Take an oscillogram of the voltage across both C1 (5V/div) and RL (5V/div) with the scope dc coupled and at a time division of 2ms/div.  Clearly mark VC1, VRL and ground.





q 4.	Determine the efficiency of the circuit based on VC1, VRL and the load resistance.  Assume that the control and base drive circuitry consumes very little power.





Pin=VC1*VRL/RL 				Pout=VRL*VRL/RL 			





Efficiency=Pout/Pin*100% 			
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